W31 / SECTION-A
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The boiling point of alcohol is 78°C. What is the corresponding temperature on
the Kelvin scale ?

T Fa9 ea AL F iz TE F o F @ s ¥ o dfg fire gvam de 1
oo = 21 &S g Hfem ofiad fafag

A de-shelled egg is placed in a concentrated salt solution and uhserved after
five minutes. What change takes place ?

T =27 =1 Iroatea Fwifaw ) 1
Define one Newton.
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(iii) Ui = Hg FAaE FEYY 6 B &
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Mame the state of matter that

(i) has definite mass, volume and shape
(it} has no definite volume and shape
(iif)  has minimum interparticle attraction
(iv)  has maximum interparticle attraction

THIEH F 150 mL g faems § 25 ml vHiEE Suted §1 feEs & e 2

gftmfem S|

If 25 mL of acetone is present in 150 mL of its aqueous solution. Calculate the
concentration of solution.

il & S wfow SR SAS 4 U 9 9 99 TeE 9es B AW fafag 2
T I HE £

Name the living component common to both the complex permanent tissues
found in plants. What is its function.

7 52 T = B Tee ya W i e fouee 99 W Ao &1 @ 9w 9 feafadi 2
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Ravi weighs few grams of sugar first at the poles and then at the equator. Will
he observe the same weight in both the cases ? Justify your answer.

() Tt W B 3 fafia fafaa) 3
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{i) List two ways of obtaining fish.

(i1} Give two examples of marine fish of high economic value, formed in sea
water.

(iiiy  Write one problem that is found in composite fish culture system.
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{i) Classify three major groups of activities for improving crop yields.

(i)  Name another way of improving crop variety. How is it done ?

= =1 T Fie

(a) =i =t witggar st wfvs a9 ¥

(b) TEHREA A W T W R g 3E @ )

€ Tu=mEfafFawsmatfmdmamt

Account for the following —

(a) Gases are highly compressible.

(b} Our palm feel cool when we put some acetone or petrol on it.
{c) Sponge is compressible yet it is considered to be a solid.

A8 <t el e - e, e R seRwE ¥ 100g F Sufe i
Sl T 9 (v H) wefim wm ¥ (s )
few | | A [ emen | 9 | g
Wt 360 | 2040 | 06 0.0 | 1000 |
weERe | 00 | 00 | 200 | 00 | 160 |
FaeE | 00 [ 00 | 30 00 | 00
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The table given below shows number of grams of different solids in 100g of the
solvents-water, alcohol and chloroform (all at 20°C).

SOLVENT SALT | SUGAR | IODINE | CHALK | UREA

WATER 36.0 204.0 0.6 | "ol 100.0

ALCOHOL 0.0 0.0 20.0 0.0 160
CHLOROFORM | 00 | 040 3.0 0.0 0.0 |

(@)  Which solid dissolves best in water at 20°C ?

{b) Which solid is maximum soluble in alcohol ?

(c) Which solid is soluble in all the three sclvents ?

(d)  What is saturated solution ? How can a saturated solution be made
unsaturated ?

() Tt Sar-u F0 = 32

(i) shmied verd o FEd €7 T8 o g @ fRu yer R &2

(i) What is membrane biogenesis ?

(ii) What is chromatin material ? How is it different from chromosomes ?
(i)  TENSHEH Tl TEEA I F AHIEG (97 FEL

() 9 H < um fafae w2 98 oo sefem g

(i) Draw a labelled diagram of Longitudinal section of sclerenchyma.
(ifj ~ Name any two regions in the plant, where this tissue is present.
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(i) Mame four different types of epithelial tissue.
(ii)y  Listany two functions of epithelial tissue.

(i) TFEEH TG F 35 gia gioaifia S
(i) THEEE T VST FEE O S-S T T

(i) Define uniform motion with an example.
(i)  Plota velocity time-graph showing uniform metion.

WE= = iwiEg sty i w1 Tem 0% oW W R & w1 vl
F4 TS fearrem = aviA =i

Define inertia. Write an activity to show that inertia of a body depends on its
mass.

800 kg #1 T% TR 20 ms ' & & § 9 W T 9% @OC IH W TE § HiZ H gl
T T = Wl | Hed au Hfim a9 3w i
A car of mass 800 kg is travelling with a velocity of 20 ms '. When brakes are

applied, it stops after travelling a distance of 8 meters. Find retardation and
retarding force.

‘m’ THEA F UF 9% 9El =i 3R 0 v S W@ ¥ e Sitae - e
= 76 % weEn W) R A = g

An object of mass ‘m’ is falling freely towards the earth. Derive that the
acceleration due to gravity is independent of the mass of the object.

() 9t SR T & HE T G S 59 ] e € 7

(i) 1 mm g0 W W 10 kg 3R 50 kg TH49E Fi TG & €= @ 9w
HHYT FE T HIC | (G=6.67 x 101 Nm2/Kg?)

(i) What do we call the force of atiraction between the earth and the

object 7
(ii) Calculate the force of attraction between two masses of 10 kg and 50 kg
placed 1 mm apart. (G=6.67 x 10711 Nm2/Kg?)

TR 2 a9 § e 3veed w09 F fiu sl s el fHEE w5 fafie fafi

1 U HiTA |
Explain the different kinds of irrigation systems adopted to supply water to the
agriculture lands in our country.

a74dr £ OR

() Y IO F o wEm F 9n aEt w dw gaet v o fari v w5
=g fafE)

() Y IUEA F T T HEE F TER B F 9N SRV fAred |

i)  TEEm ayEEE! TeE @ e w1 siffea T e E 7

{i) Name one local variety and an Italian variety of bee for honey

production.
(i)  State four reasons for selecting ltalian variety of Bees.
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(i) Farmers use bee keeping as an additional income generating activity.
Why ? .

(@ T EE E A F F 9w Shed T fa 27 fmwgs 5

i e =1 v See i)

(b) Tew wI ¥gW N W giviisa witaw ) fFEE g3 # eve w9 & fam o°C
W= SHI A99E % IHT § S sam ¥ w6 7

(a) What does the diffusion of gases tell us about their particles ? Give one
example of diffusion of gas in liquid.

(b} Define latent heat of fusion. Ice at 0°C is more effective in cooling a
liquid than water at 0°C. Why ?

4T S OR

aror el wEd €2 Ao it @ Y agE a0 SR SEE gHEs S ?

What is evaporation ? List four factors which increase the rate of evaporation ?

(@) SeEUmE fRd w50 € 7 SEiaa 89 A & verel F A fefam 5

(b) =wtEEs fGEE AR Fege fegn § 9 W fafew ) v@s w1 w s
feafam)

(a) What is sublimation? Name two substances which undergo
sublimation.

()  State two ways by which you can distinguish a true solution from a
colloidal solution. Give one example of each.

3gar £ OR

T U = F A 9 e ed § Wae 9 g s 9wm 9 39

R S 0F 42 9F% SrE W T IR o e ¥ et ot 39 eee S

T WS I ¥ SR 9 T 6 9N ST %) g2 fe T

- e ki et

B==TE _ — Papercips
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e
@) PR = F d fafiem ver & i e € @ o T S S
(i)  foemsdt g wEm = = A &3y am )
(i) 39 o w1 fagi fafa)
(v) 5= fafa & @ o agwam fafa
A student wanted to separate mixture of dyes constituting a sample of ink. He
put a drop of ink on the filter paper and placed the filter paper in a glass
containing water. The filter paper was removed when the water moved near
the top.

= oy e Crlass pod
ﬂ""— ‘i;"' - Paper dlips

1 Jar

| #io Serig ol Hiler
g pap
1!-+4' 1T
| et :
ke ,_,_‘!-.:.t;.-'— Wty
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(i) What would you except to see, if the ink contains three different
coloured components.

(i)  Name the technique used by the student.
{iy  State the principle of this technology.
{iv)  Suggest two more applications of this technique

(i)  THEAE W T & 9 it | 5
(i) = R TE €, fvs g7 5« & 78 w1 W 2 o a3 St
- B

' C

'
‘
B

01 23 &
— THY (s)
(i) Define uniformly accelerated motion.
(i) From the graph given below, find the acceleration and the distance
covered by the body in 5s.
& B

C

i
5

g0 1 2 3 4
~—— Time {5)
FHeEr 7 OR

%{n—wwﬁmﬁﬁapuuéaﬁ =g wife, e weisl &1 e
T £

Use velocity - time graph to derive the relation. s=ut+ %atz-

Where the symbols have their usual meanings.
(a) deF | TR B F ey H, §gw 09 Fi &k wfsifm a9 3 o 5
farag
(b) U 10 g 5599 I Tl 500 g SS9EF 1 95w 9 100 ms™t F I | B
W 81 9 i
(i)  ‘'Hgw + TR’ w5 R TE
(i) et S % =Is T g W Ha )
‘(i)  Sge oI Wiaaaa 3|
(a) When a bullet is fired from a gun, the gun moves backward. Give
reason.
{b) A gun of mass 500g fires a bullet of mass 10g with a speed of 100ms ™’
Find :
(i)  Initial momentum of ‘gun + bullet’,
(i)  Momentum gained by the bullet after firing.
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(iii)  Recoil velocity of the gun.
J[gar / OR
=12 & T = ouw Frem fafew e fivg F a0 au o oo § gay e
i |

State Newton's Second law of motion.
Derive the relation between force and the acceleration produced in a body.

WR-"/ SECTION - B

TameTl g 2N F W HU w SEEE 50 % (A, S F a w60 B 1
UF WES W @S FO T =T S S SEE & e 39 1A

(a) HuEH =] (b)y  FEEE

(c)  HwiH (d) ZeIEA

To observe starch granules in potato under a microscope, freshly cut surface of
potato was crushed on a slide to take out the extract. The stain that will show

starch granules clearly would be :
(a) Methylene Blue (b} lodine
{c) Safranine {d)  Eosine

T A9 T 3 AR @ w5l ©@ e d s, e an d v wmn A 1
o, F1 Fufeals % Sta 0 ¥ fow oogF o | 9% o9 I SEEen § e T

393 T = et § oo iR 3EE 9 o ° wa &R wie HOl faenw) e
=1 8 T

(@ T (b)  Frw-Hien

€ W (@ dem

Sakshi was curious to test the tur dal that her mother purchased from market

for presence of an adulterant about which, she studied in the class. She took

the dal to the lab and put it in the test tube, added little water and few drops of
conc. HCL. The solution became :-

(@)  pink (b)  biue black
{c) green (d)  yellow
e 1 FEEAIE T B F 00 e e (FiE TeR) ¥ gEe T o E 1

(@) T TEHEEE FE &

(b)  Fua Fol B w B UFA B (A

© = = Iser A i & o

(d) i F Ty T g | a=E &

While determining the boiling point of water, pumice stone pieces are added
to ;-

{a) spread the heat uniformly

(b)  prevent loss of heat energy

{c) avoid bumping

(d)  avoid cracking of glass container

firmm ¥ 9% =1 ToHE IE S0 & O Wi oa # "9% & fGEen W 1
JrinTET gr fean T areEE E
(a) °CH =AfE=w b) C°CAFH
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© ocC (@) ST FE 6
Prival set up an apparatus for finding the melting point of ice. When the ice
melted, the temperature shown by thermometer is :-

(a) More than 0°C (b) Less than 0°C
(<) 0°C (d}  None of the above
femt T 8 Wit a9 w1y Sufvem T €

b

(@) () < T = FE
@ = (d) T o awt wE
In the experimental set up shown in the figure the missing item in the setup is :

W‘é‘ Ching Dish
_— ]

IIII"’ 5 ml.

FE A
(a) Thermometer (b} Two holed cork

- (o) Cotton plug {d)  One holed cork

= 3R e e v g E, 59 e e #
(a) @ H 02 It WAl (b) =& H sl
(¢) = =iE mest (d) == H g
A clear and transparent mixture is obtained when we mix
(a)  eggalbumin in water (b)  alum inwater

(c) chalk powder in water {d}  gum in water

WETE B T F Sied SR 9ew Teet & 89 § sy sracens e ¥ de
o w4t Uik T e, ge R

(a)  TEE UIEET gE o & SR e faee ava g

(b)  Te =i SEA W HE 9 T vz ¥

(€ T, Hew 3R FEA SREeHES ¥ e 9 ST genne w9

(@ v e faam w2 fe e g A 2m wew i e o g

The statement which is not observed when carbon di-sulphide is added to a

mixture of iron filings and sulphur powder taken in the test tube is :-

(a)  sulphur powder dissolves and a yellow solution is formed.

(b}  iron filings remain unaffected.

{c) iron sulphide is formed by the combination of iron, sulphur and carbon
di sulphide.
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33.

(d)  solid sulphur reappears when yellow solution is heated.

39 FIR G082 F fFedl &1 95 fon § wf o €, @ i aeee w1 1
(@) TERETWME b) e @

€ ®EWEIEY (d) whewMR

When copper sulphate crystals are heated in a china dish, the copper sulphate :

(a) turns white (b) turns yellow

(<) turns green {d) remaing white

=% T Y9t 3R S & Sie & e | v 99 R g gYE SO, a8 E 1
(a) B (b) HFHEA

©  FHET (dy  TrEEE ggFR

Rishi will separate iron from a mixture of iron filings and sulphur powder by :

(a) filtration (b} sedimentation

] distillation (d}  magnetic separation

T 7w & i % i Seke faeea § @ o 3o wha 9r i fe h

(@)  TIE H W W EAS T F FET @ 9= E

(b)  FR T U W EE T w5 e T

(c)  wEH U W - W e A

(d) @R B o W e ol Sawer ww e @

Raghav placed an iron strip in copper sulphate solution and after sometime
observed that :-

{a)  agrey and hard coating is deposited or. the iron strip.

(b)  asoft and black coating is deposited on the iron strip.

(<) a reddish brown coating is deposited on the iron strip.

{d)  asmooth and shiny coating is deposited on the iron strip.

TEA 3 WS F G ) SEUE w5 9% | ey gl 9eT F W aE e H 1
N Hifyr = 7 2@ T, TEE

(@) iR RS (b) T (7O )

(€ e Tfa (d FEw

Rahul prepared a temporary mount of onion peel. He could not see one of the
following cellular components in the onion peel under a microscope that is:

(a) cytoplasm (b} chromosome

(c) cell wall {d} nucleus

g 3 HHE HUT HveEE B AYEH % 4 afwifm o o @ Al 3 ® 1
AT TRE T YA gFI e Al € 9| e

@ =i T, =i ==, S

(by  ieE o, ®ifie oo, o, TEEnedl

() Fivwe fufs, Sifve oo, it o=, 2%

(d) S T, wifv 2=, $2F

A slide of human cheek cells stained in methylene blue and mounted in
glycerine was observed under a microscope by Shruti She coluld see:

(a)  cell wall, cytoplasm, nucleus

(b)  plasma membrane, cytoplasm, nucleus mitochondria

(c}  cell wall, plasma membrane, cytoplasm, nucleus
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37.

{d) plasma membrane, cytoplasm, nucleus

HiTE HUIE FIEH] %1 e RS 991 $ fog = =0 =1 96 %9 § TRy
(() T W E BN HIEE WU 98 e F g

(i) W H SR W AR | g

(i) HeErE = R SEW

(iv) =T IV W e T

@ () ) (), @) ® (), 6, (), i)

(e) () (), (im), (i) (d) (i), (i), (i), (iv)

To prepare a temporary mount of human cheek cells, arrange the following
steps in correct sequence :

(i} Putting a drop of glycerine on the cheek cells on a slide.

(if)y  Scrapping the inner side of cheek

{(lii) Adding methylene blue stains

(iv)  Placing the coverslip over the material

(@) (i) (i), (i), (iv) () (m), (i) (iv), (iii)

(€ (iv) (i), (i), (i} (d) (i), (i), (i), (iv)

faiw 7 tam T SR F daw B fE § 4 9 @ s wme Tl
e 7

a) FI= (b) TEmem

(€ Tl v () (@ TR (FR)

Ritesh observed a permanent slide of striated muscle cell. Which one of the
following components will not be found in the slide ?

(a) MNucleus. (b} Dendrites
{c) Dark band. (d)  Lightband.

St 7 TanT 506 & WE WES #1160 1, JiFEw a0 % TWies 69
EE I s e IR R &

@ st ¥ TR T
1
@ o1 b fE=2

(0 TRz (fafvm smda @ gm) (4 399 9 & o= =8

After observing a permanent slide of parenchyma tissue, Amit drew the
labelled diagram of parenchyma tissues. Complete and correct labelling is done
in figure :
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Cell wall

MNucleus

Intercellular space

@  fig(l)
(b)  fig(2)

{c}) fig (1) and (2) under different magnification.
(d)  None of these figures.

Y3 1 9 e #1100 mL ot # fimimn frafn 5o w03 = v 8 T
forg A % FRw gen, Tw

(a) e WOEw )  faEm

(c) SRR (d) dEE=EFEd

Dhruv put few raisins in 100 mL of water. The raisins became swollen after
few hours. This is due to the process :-

{a) Endosmosis (b) Diffusion

(c} Exosmosis (d) Plasmolysis

F el 11 cmx 7 cmx 6 cm At famsl F s wwe % 9 ¥ ks
el Bl W I UG08 W TER FAMGR 90 5 @iEa €1 SEEER gen
(a) Ot frafadi § wwmamm g

(b) (7 cmx6 cm) %t Tamed F A= =t W W EH T AfFEaH 2

(€} (11 cmx7 cm) %t famedl %1 o= 3t wae = @ w afusas @

(d) (11 emx6cm) FI famei # ¥ 1 Ta8 | @ W Afumaq 2

A student pulls a rectangular wooden box of dimensions 11 em X7 cm %6 cm
with the spring balance by keeping its different faces on the table. Spring
balance will show :-

(a) Same reading in all the cases.

(b) Maximum reading when it is placed with dimensions (7 cm %6 cm) on
the table.

{c) Maximum reading when it is placed with dimensions (11 em %7 cm) on
the table.

{d) Maximum reading when it is placed with dimensions (11 cm x 6 cm) on
the table.

it TR W =i A F famen ¥ oy, o el FoEER g s swE w
t R 9e £ AU #1319 9% 36 wE W UE S 0TS B TEdl § SN 99 F, Wi

%l Fiﬂifzﬁﬂ%fﬂ%:
@ hk”>R b)) F=hK
(¢ F=F (d) ‘B & zoE R it w R

To move a wooden block ‘A’ placed on horizontal surface, a student uses a-
spring balance and measures the force as Fi. Now he keeps one more block “B’
over it and then measures the force as F2 the relation between F; and F- is the :

o F7F ) F2Fy I’ageuufli".
2} Fl"_ F?_ d) dtkm"ﬂ'l; LLFW +he moss D‘EBlbde



